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P 1 1 2 3 4 5 6
i 11 12 13 14 15 16
Xo (k) 31 45 46 45 51 47
x; (k) 36 33 32 38 36 42
X, (k) 37 38 25 13 10 17
x3(k) 38 8 9 7 5 7
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minmin‘xo(k)—xj(k)’ =5
jei k

min min|xg (k) —x, (k) = 46
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¢y =(6,(1,£1(2),6,(3).£,(4).£1(5).6,(6))
=(1,0.8,0.7568,0.93333,0.7368,1)
[5] 3¢
¢, =(0.9333,0.9333,0.6364,0.5091,0.4375,0.5283)
&5 = (0.5957,0.4667,0.4667,0.4590,0.4058,0.4444)
RO EA R =07812 > r,=0.6630 > r, =0.4713
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ny = (O B AYRARRED) = r(y, X))
N2 = (yéﬁilvﬁljﬁgﬁﬁﬁf#) =r(y;, %)
H3 = (n& lﬁﬁﬁlgﬂyﬁﬁ:) = r(y,x3)
na = (O Ex AIRABERE) = r(yy.xq)
ris = (O ExsHIRAHR ) = r(yy. xs)
ne = (O BExAIRARERE) = r(yy, )
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